| Efficiency vs Dxy |
0.5
<

S : : : : : : : : :
LA

> : : : : : : : : :
o EARAARREEREFACEEERE: SRR EERERRE R TR TTESERTEEE e (REEREE
C0'4 : : : : : : : : :

@.35_— ----------------------- ------- ...................................
© __F Do

VK| RS S S S SRR Rt S S S S
] AUROR PR OV SRS SN N
O e
0,15t |- T |

0.2F i {4+i- (1IN IO 1 T O W
0.05;—'----- -i-4 't +++ I
_94--\'0?”';"";' ;lll; ' || ||;||||;||||;||||
= [ : : | i i : : : :
nd K

1_— 1 1 e 2. y

0955 56-15-10 -5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_V0001_R000000001__Global _mkFit_baselinel

| Efficiency vs Dz |

—e— DQM_V0001_R000000001_ Global _mkFit_batchl
N 0.5 : . . .

-
> : : : : :
0
O N H H H H
$.35F R AR P AR A
o : : : :
R i S e
P TR R T o - —
7)1 11 PR RORPRNS TR S M

RPES 1 1ETRI S s e e
| e T W

I
O_leo:llllilllli""ﬂ **_Eﬂulillllillll

Rati

109 9--¢9-¢----9-9:- R Y S RETREPPEPRE PR LR

09365 =20 =10 0 10 20 30

TP dz (cm)




	Contents
	Page 1


